
LINEAR ASSIGNMENT

SIMPLE ADDITIVE WEIGHTING METHOD (SAW)

TOPSIS (TECHNIQUE FOR ORDER PREFERENCE BY
SIMILARITY TO IDEAL SOLUTION)
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Simple additive weighting method (saw)
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TOPSIS

Technique For Order Preference By
Similarity To Ideal Solution
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GRE: The Graduate Record Examination (GRE)is a commercially run standardized
that is an admission requirement for many graduate schools in the United States.

GPA: Grade Point Average is a calculation of the average of all of a student's
grades in United States.
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3:

0.2 0.3 0.4 0.1 Weight

cost Fuel.Eco reliability style

8 9 9 7 civic

7 8 7 8 Saturn

9 8 6 9 ford

6 8 7 6 Mazda
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:

cost Fuel.Eco reliability style

0.53 0.54 0.61 0.46 civic

0.46 0.48 0.48 0.53 Saturn

0.59 0.48 0.41 0.59 ford

0.40 0.48 0.48 0.40 Mazda

Cost)-( Fuel.Eco(+) Reliability(+) Style(+)

0.106 0.162 0.244 0.046 civic

0.092 0.144 0.192 0.053 Saturn

0.118 0.144 0.164 0.059 ford

0.080 0.144 0.192 0.040 Mazda
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very high=9, high=7,

average=5, low=3:

:W=(.2, .1, .1, .1, .2, .3)
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X5 X4 X3 X2 X1

2400 3 A1

25000 1.2 A2

32000 1.5 A3

W= {0.179, 0.062, 0.211, 0.017, 0.531}
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X5 X4 X3 X2 X1

1 2400 9 5 3 A1

3 25000 5 7 1.2 A2

7 32000 3 9 1.5 A3

X5 X4 X3 X2 X1

0.130 0.509 0.839 0.402 0.842 A1

0.390 0.530 0.466 0.562 0.337 A2

0.911 0.678 0.280 0.723 0.421 A3
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V= N*W
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W= {0.179, 0.062, 0.211, 0.017, 0.531}W= {0.179, 0.062, 0.211, 0.017, 0.531}
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A 9 10 100

B 10 8 120

C 8 7 100

D 8 9 90

     irmgn.ir



     irmgn.ir



     irmgn.ir



     irmgn.ir



     irmgn.ir



     irmgn.ir



     irmgn.ir



     irmgn.ir



     irmgn.ir



     irmgn.ir



     irmgn.ir



     irmgn.ir



     irmgn.ir



     irmgn.ir



     :

     irmgn.ir


